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Instructions for the Candidates

1. Write your Hall Ticket Number in the space provided on the top

of this page.

2. This paper consists of hundred multiple-choice type of questions.

3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
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in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
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of 5 minutes. Afterwards, neither the Question Booklet
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Number should be entered on this Test Booklet.
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and (D). You have to darken the circle as indicated below on the
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where (C) is the correct response.
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be evaluated.
Read instructions given inside carefully.
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If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.
The candidate must handover the OMR Answer Sheet to
the invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination Hall.
The candidate is allowed to take away the carbon copy of
OMR Sheet and used Question paper booklet at the end of the
examination.
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EDUCATION

1. Plurality of selves is admitted by

e
P

S5 =1l

1.

i) Sankhya

i) Nyaya

iii) Vaisesika

(A) i, ii only (B) i, iii only
(C) i, ii, iii (D) i, iii only

. The concept of nirguna brahman as the

ultimate reality with the implied belief in
the maya doctrine is proposed by

(A) Ramanuja
(C) Sankara

List -1
a) Vinaya Pitaka

b) Sutta Pitaka

c) Abhidhamma

Pitaka

d) Jataka
a b
(A) 2 1
B) 2 4
(C) b5 3
(D) 1 2

(B) Madhva
(D) Nimbarka

3. Match the following Buddhist literature

List -1l

1) Contains the
doctrine taught
by Buddha

2) Contians rules
for the monks

3) Contains
advanced
doctrines

4) Contians code
of conduct of
followers of
Buddha

5) Contains
account of
previous births
of Buddha

d
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2T BN 90AZB0IHE

i) 3“0335
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(A) i, ii SooE20 (B) i, iii S0
(C) i, i, iii (D) i, iii oo
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a b c d
(A 2 1 3 5
B) 2 4 1 5
(C) 5 3 1 2
(D) 1 2 3 4



8. The famous saying of John Locke “ the 8. 25 o5 DATBODD “HoSKyy Hewe 5

4. The sects of Jainism are 4. 35505088 Soren
sl N

Constitution (Eighty-Sixth Amendment)

Act, 2002 is

(A) To promote the spirit of common
brotherhood amongst all the people
of India

(B) To protect and improve the natural
environment

(C) To safeguard public property

. T8, 2002 % dowdsod” B 86 ©

5983 TRT° DO (PEE DY

(A) ero80% (BesootsdS” Ay
2DoTFooNEo

(B) Sires $0g00ETR) S§oticso,
PEOBSHE

(C) ©ehss esdyedo $083ouco

12. According to Marrion Levy, the criteria to

be fulfilled before any group considered

as constituting a society.

i) The group must be existing longer
than the life-span of the individual

ii) The group must recruit its new
members, at least in part, by means
of sexual reproduction

iii) The group must be united in giving

i) Digambaras i) Boeses mind is a tabula rasa and the reality is 50636 TGO BorsHs Deoso &Rl ¢
||) Swetambara§ i) Bomromties outside the mind” belongs to (526 8550 BAS BowoQoDBB ?
iii) Sthanakavasis i) ostes (A) Realism (B) Idealism (A) anorgmeses  (B) arsesn
(A) i, ii only (B) i, iii only N (C) Pragmatism (D) Existentialism C) TS558 Smms50(D) 65255
(C) ii, iii only (D) i, ii, i (A) |, i 5@ (B) i, fii o (©) mysos vemassb eane
(C) i, iii SBD0 (D) i, i, iii 9. Paidocentric attitude in education is 9. 53655@58 35> Bo0% DB BAIACISE
. “Education is drawing out of the best in proposed by (A) eBes5n (B) o5
child and man-body, mind and spirit” is SIS 5580, BovRY S B00C VIR (A) Existentialism  (B) Naturalism (C) wgssros sessn(D) 5By, S50
said by TR DDEERB Desg” €92 DT (C) Pragmatism (D) Marxism
() Swamy Vivelananda (A) T 2237500 10. ‘Reality is in a constant flux’ is proposed o fiD T80 SR e SO R e
(B) Rabindranath Tagore (B) b0 i . . y prop BATEoDSE
(C) Aurobindo Ghosh (©) etpomt (:) o &) wand (A) grsmesso (B) BBy esios
SletNe) ealism arxism A v “
(D) Mahatma Gandhi e | _ (C) 3595708 darresnn(D) E5FTes5
(D) so5'E ol (C) Pragmatism (D) Naturalism
. The concept of ‘Integral Education’ is ‘ _ _ , 11. D@55 wob P5E Soif Hsso Th5d
given by . BB D5 T FOTTE 11. The book ‘Education and Social change S =
. is written by (A) 26 B& 8,
(A) Rabindranath Tagore (A) Sdose erR’E _
(B) Aurobindo Ghosh g (A) Sir Fred Clarke (B) &0 3. 553
urobindo Ghos B) 0585808 27 &
(C) Swamy Vivekananda o) o (B) George E. Payne (C) JRd wxbyards
O ty - (C) &5 Jdsisocs (C) Emile Durkheim D) 5 e
(D) Mahatma Gandhi (D) SofTmy o (D) John Dewey
7. A fundamental duty inserted by the 12. 508008 8 (B5°50, DT 800 850N

NONEIOWRITO0E Pe3oWPOND (KHNIETeD.
i) 2.5 568 228570 Fold HEH Hoawo &
QR0 @0 €0Td
ii) &3 05070 GO E°G Haidgeio
BONE VOB B0 VNSO
i) S5oeS5 SdTrae, TTEs SO S5
356y 27500 (9530558 8 DRaTro

(D) Whois a parent or guardian to provide (D) &80 5006 Smealid BoRET Hobinie allegiance to a common complex, 28RG50N €060
opportunities for education to his child erees 80 $oUgEotH 70 B9t es 8o general system of action (A) i, i S57E30 (B) i, ii B0
or as the case may be ward between RoGEEs IT s Fot Shoiico (A) i, iii only (B) i, i only (C) i, iii 575D (D) i, i, ii
age of six and fourteen years (C) i, iii only (D) i, ii, iii
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13. The factors of social change are
i) Changing size and average age of
population
i) Environment and ecological
modifications
iii) Seasonal changes
(A) i, iii only
(C) i, ii only

(D) i, ii, iii
14. Primary socialization of the children is
done by
(A) School
(B) Home
(C) Peer group
(D) Media

15. A sense of self-that develops as the
child differentiates from parents and
family and takes a place in society is
known as
(A) Self respect

(C) Super Ego

(B) Ego
(D) Identity

16. ‘Collective conscience’ means

(A) Shared moral beliefs and values of a

society

(B) A sense of solidarity of people

(C) Individuals carrying specialized roles

(D) Excessive individualism

17. When educational pedagogy recognizes

that teaching and learning process is

actually the result of a human relation to
beyond a merely cognitive process, it is

(A) Educational Philosophy
(B) Educational Psychology
(C) Educational Sociology
(D) Educational Management
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18.

19.

20.

What is meant by ‘Growth’ in the strict

sense in Psychology ?

1) It is mental growth of the child

2) It is moral growth of the child

3) ltis increase in size, weight and
height

4) It is functional development of the
organs

(A

(B

(C

(D) Only ‘4’ is correct

Both ‘1’ and ‘2’ correct
Both ‘1’ and ‘3’ correct
Only ‘3 is correct

)
)
)
)

Match the following

Psychologist Theories

a) Jerome Bruner 1) Moral
development

b) Erik Erikson 2) Cognitive

development
c) Sigmund Freud 3) Theory of

Psycho-social
development

d) Lawrence 4) Psycho analysis

Kohlberg
a b c d
(A) S 2 1 4
B) 2 1 4 3
c 1 3 2 4
(D) 2 3 4 1

In Piaget’s learning interaction,
Equilibration is the process of balancing

(A) Assimilation and schema

(B) Accommodation and schema
(C) Assimilation and accommodation
(D) Adjustment and Assimilation

no

18.

19.

20.
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a b c d
(A) 3 2 1 4
B) 2 1 4 3
c 1 3 2 4
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21

22,

. Robert M. Gagne proposed a system of
classifying different types of learning in
terms of the degree of complexity of the

processes involved.
(A) Emotional
(B
(C
(D

)
) Social
) Behavioural
) Mental

The term used by Bruner to describe a

form of learning that results from active

exploration of alternatives on the part of

the learner is

(A) Discovery learning

(B) Rote memorization

(C) Conditioning
)

(D) Signal learning

23. The child who tends to reverse letters

and numbers in the process of learning,
is said to be affected by

(A) Auditory processing disorder
(B)
(C) Dysgraphia
(D)

Dyslexia

Dyscalculia

24. Mirror drawing apparatus is related to

(A) Conditioning

(B) Trial and error

(C) Span of memory
)

(D) Forgetting

no
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22.

23.

24.
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25.

26.

27.

28.

The researcher who developed a

list of seven variables needed to be
considered when describing a person’s
sexual orientation that resulted in the
development of KSOG SCALE is

(A) Kelly

(B) Klein

(C) Kraft von Ebbing

(D) Masters

The correct sequence of the duties of

guidance counselor in school is to

a) Evaluate the problematic child

b) Prepare reports on the mental state
of problem student

c) Identify the problem of a problematic
child

d) Provide help to the teacher to
understand the problematic child’s
behaviour

e) Rectify the problem of the child

(A) c,b,a,d, e
(B) c,d,a, e, b
(C) c,a,b,d, e
(D) d,c,b,a,e

Sources of stress that are most likely to
create long-term negative effects are

(A) Crisis situations

(B) Unrealistic situations

(C) Routine, consistent problem

(D) Those arising from intrinsic stimuli

The first International Congress of Mental
Hygiene was held in

(A) Washington, D.C(B) London
(C) Geneva (D) Berlin
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26.
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28.
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33. The hierarchical order of Gagne’s

29. The method of transforming the instincts 29. wTrodB OFETVN VOTFOBCD HFErTOR

that develop undesirable characteristics

33. mowR PATRODS ek S0EGE

classification of learning is SNSRI

€90L3°50.

30.

is called

(A) Compensation
(B)

(C) Repression
(D) Sublimation

Regression

The Raven’s progressive matrices
overcomes
1) Language Barrier

2) Mental Barrier
3) Culture Barrier
4) Moral Barrier
(A) 1" and ‘2’ only
(B) ‘1" and ‘3’ only
(C) ‘1’,2” and ‘3 only
)

30.

BB DoBOD S
(A) 26560

(B) ®dimsoso

(C) 500

(D) &mrdsseso

TR0y (PR STQF) 9QRI0DD
1) arakr egosoen

2) J0P5E oS

3) TroR) DS eEosien

4) 2IE egiooen

(A) ‘1’2 S &

(B) ‘1" 5000%0 ‘3’ S
(C) “1°, ‘2’ 558050 B Soras
(D) 17, 2’ 50800 ‘4 S0

1) Chain learning

2) Verbal associate learning
3) Stimulus-response learning
4) Signal learning

5) Problem solving

6) Learning by discrimination
7) Learning by principles

8) Concept learning

(A) 8,1,2,5,3,6,4,7

(B) 3,6,4,2,8,51,7

(C) 2,3,1,7,6,4,8,5

(D) 4,3,1,2,6,8,7,5

34. Reinforcement in Skinner’s theory is
similar to drive reduction in whose theory ?

(A) Hull’s theory

34.

1) B eargdso

2) T HoDY erkdPo
3) &QBE-EN0ESS eykdso
4) 5038 @500

5) 550 502,80

6) IDTTHE egkso
7) Jr@ro esergoo

8) aride eargdso

(A) 8,1,2,5,3,6,4,7
(B) 3,6,4,2,8,51,7
(C) 2,3,1,7,6,4,8,5
(D) 4,3,1,2,6,8,7,5

2D BEFoBod HGRHe’ M9 ArroBo

S° EBNES FoorEEeS FOSE 9

(D) 1°, 2" and ‘4’ only - . o £
31. IO BS0b E5°Co 7, TS T (B) Guthrie’s theory (A) 6 Lgrovo
31. The type of personality which is stocky, B0G [507920850 (C) Lewin's theory (B) /06 25080
full chested, popular according to Ernest (A) D205
. > (D) Tolman’s theory (C) 828 dorodo
Kretschmer is called (B) 2ootE o
(A) Ashleric (C) 228 35. The four main components of Lewin’s (D) erdios tgpoto
(B) Dysylastic ) 9;55 theory are o
. o 35. 3IS DT0BHOE D T (I ©90TOe0D
(C) Asthenic (A) Cathexis, Equivalence beliefs, Field - ¢
(D) Pyknic 32, ‘oot SrESeys da%ss S expectancy, Field cognition modes (A) 57340, Sooi Jzgres, YO BIF, §&
32. ‘Law of Habit formation’ is a postulate SOTOODSTE: (B) Similarity, Proximity, Continuity, Soezis b0
propounded by (A) To5aE Pragananz (B) dxiog0 FRoidgo, DS0BES, @moes
(A) Thorndike (B) ¢rdsoS (C) Life space, Valence, Barrier, (C) 625 ($Bu50, 5508, wiod, (66
(B) Tolman (C) =& Motivation ¢ SRS B
(C) Hull (D) 6 (D) Mental set, Multiple response, (D) 2508 983, wiFod PIRHOED, s,
(D) Guthrie Analogy, Associative shifting $0RY G000
no 10 A-06-18 o 11 A-06-18



36.

37.

38.

Critically judge the following.

Assertion (A) : Broken family hampers
the development of the
child as wholesome

personality.

Reason (R) : Broken family is the
only cause that hampers
the development of the
child as wholesome
personality.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) Only (A) is true but (R) is false

(D) Only (R) is true

The post test only design with non-
equivalent groups is likely to control for
which of the following threats to internal
validity ?

(A) History

(B)

(C) Additive effect
(D)

Differential selection

Differential attrition

Which of the following are quantitative
variables ?

) Age

) Family size
[lI) Time taken to complete a test
V) Height

V) Employment status
(A) 11,1V 8) 1,1, 1v
) v, v (D) 1,1, v

no
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36.

37.

38.
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(A) I, 11, IV (B) I, IlI, IV
©) I, IV, V D) I, 1ll, V
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39.

40.

Which of the following are characteristics
of action research ?
I) Focuses on problem (s) in a particular
setting
II) Attempts to apply the steps in scientific
method

[ll) Findings are generalisable

)
)

IV) Not based on any theory
(A) I'and Il only

(B) Il and IV only

(C) I, land I

(D) I, land IV

Match each type of test reliability in
Lists — I with the method of establishing
the reliability in List — II.

List—1 List -1l
(Type of test (Method)
Reliability)
[) Stability of test 1) Equivalent
overtime forms
[I) Stability of test 2) The Kuder-
over term sample  Richardson
formula

[11) Internal consistency 3) Test retest
of test

IV) Coefficient of 4) Spearman

consistency -Brown
prophecy
formula
| 1l ] v
(A) 4 1 2 3
B) 3 1 4 2
(C) 3 4 1 2
(D) 1 4 2 3
no
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41.

42,

43.

44,

Which type of validity of scholastic
Aptitude Test (SAT) is indicated by the
correlation between students, SAT scores
and their college grades ?

(A) Construct validity

(B) Criterion related validity

(C) Concurrent validity

(D) Convergent validity

A researcher wants to investigate

the preference of professional
programmes for study of

senior secondary students in a state.
The appropriate sampling
technique to be used is

(A) Simple Random Sampling

(B) Stratified Random Sampling

(C) Convenient Sampling

(D) Purposive Sampling

In conducting a through interviews, a

major responsibility of an interviewer is to

(A) Follow proper questioning

(B) Ensure that all issues are covered in
great detalil

(C) Prevent the participants from drifting
onto other topics

(D) Deal with the emotions of the
participants

Which of the following techniques are
used in projective devises ?
[) Association
II) Completion
[ll) Role playing
V) Q-sort
V) ‘Guess-who

(A) land Il
(C) 1, Il and Ill

~— N SN S

B) Illand V
D) Ill, IVand V
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45.

46.

47.

48.

The research method that provides the
strongest evidence for causality is

(A) Ethnography
(B) Experimental
(C) Causal-comparative
(D) Correlational

The most appropriate type of research to
be used to study the impact of educational
aspirations and family background of
school children on their educational
attainment

(A) Action research
(B)
(C) Experimental research
(D)

Descriptive research

Exploratory research

Arrange the following scales of
measurement in the ascending order
of specificity.

1) Ordinal 2) Ratio
3) Interval 4) Nominal
A)2-583-51-4

C)1-54-53->52

(A)

B)4>3—-2->1
)

D)4—-1-53->52

In a distribution of achievement scores,
large number of scores lies in the mid
range. What is the appropriate measure
of spread of the scores ?

(A) Range

(B)

(C) Interquartile range
(D)

Interdecile range

Percentile range

no
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49.

50.

51.

Which of the following statements
correctly express the relation between
variability and skewness or kurtosis of
distributions ?
[) More the skewness of a distribution,
more is its variability
Il) Less the skewness of a distribution,
more is its variability
[11) More peaked is the top of a distribution,
less is its variability
IV) More flatter is the top of a distribution,
more is its variability

(A) lonly is correct

(B) I'and lll only are correct
(C) I, llland Il are correct
(D) I, llland IV are correct

Assume that the distribution of scores on
a test to be normal with a mean 60 and a
standard deviation 5. What percentage of
scores of the distribution lie between 50
and 65.

(A) 79.85
(C) 81.85

(B) 80.85
(D) 82.85

What type of correlation coefficient is

an appropriate measure of association

between the variables nationality and

‘religions affiliation’ ?

(A) Phi-coefficient

(B) Contingency coefficient

(C) Biserial correlation coefficient
)

(D) Coefficient of consistency

no

16

49.

50.

51.

2.8 Deresiio G, BB, PBHoso, FEoEGY
oS doworray S0 FS EHETes” D
RO 9gE9ST00 ?
1) .5 Deresmrd JoB &) PHos0 ok
@08 )N BSBOB 0808
1) &8 Deresrdd B85 oo 2083 o
D BSBOB ool
) &8 Dereserdd Jod 5, BPT(To €063
@08 BE)D BOPOB 60000
IV) 2.8 Deresmrdd o 55 $:50800 &0
@08 JE)H BSBOB €008

(A) | 57530 5306
(B) 1, Il 557330 5058
(C) L 11, 1 5398
(D) 1, 1, IV 5056

28 Q8N P DgrRd Meadew @“53265503 2O
Ted Bogsgonn 60§ oo 5 T eod) e
DeTesdod’d Keadew 50, 65 o Bo¢g JoB TGO
€0eJ°000 ?
(A) 79.85
(C) 81.85

(B) 80.85
(D) 82.85

2708’ HoBDS BoRoo’ © Bl
THTRY HI550 DONGEIS Q) SEID
TPR0R0GS 8380 K05 ?

(C) B2BOHS $55H0e0ds Keaso
(D) Sorsss oesso

A-06-18

52.

53.

54.

55.

A null hypothesis was found to be false
at the 0.01 level of significance. In such a
case, which of the following statements is
correct ?
(A) Itis surely false at 0.05 level
(B) It may or may not be false at 0.05
level
(C) ltis false at all levels less than 0.01
(D) Whether the hypothesis is false
or not can not decided without
calculating the critical ratio

The maximum value of the power of a
statistical test is

(A) Zero
(C) 0.05

(B) 0.01
(D) 1.00

Statistical test to be used to measure
the relationship between more than two
quantitative variables is

(A) Product moment correlation
(B)

(C) ANOVA
(D) MANOVA

Multiple Regression

In ANOVA, the variability of within-group
differences is called as

(A) Error Term
(B)

(C) Error Variance
(D) Standard Error

Sampling Error

no
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56.

57.

58.

A researcher wants to know whether
students attendanceisrandomlydistributed
throughout an academic year. The type of
statistical test she should use is

(A) t—test
(B)
(C) The coefficient of determination
(D)

Chi-square test

Binomial test

Directive techniques of counselling puts
emphasis on

(A) Knowing the causes of the problem
first

(B) Directly applying remedial measures

(C) Giving counselling on the basis of
learning theories

(D) Providing information about the

word of work

To review the progress of guidance and
counselling services, the most popular
method used is

(A) Interview

(B)

(C) Questionnaire
(D)

Observation

Projective devices

59. Psychoanalytic approach was first

introduced by

(A) Adler (B) Jung
(C) Freud (D) Thorne
no
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60. Which of the following terms is close to

guidance ?

1) Professional advice
2) Group counselling
3) Psychotherapy

(A) 1 only

(B) 1 and 2 only

(C) 2and 3 only

(D) 1,2 and 3 only

61. Match the following List — | and List — II.

List -1 List - I

a) Play therapy 1) Eric Berne

b) Shock therapy 2) Behaviour

modification of

children
¢) Transactional 3) Sakel
Analysis
d) Aversion 4) Eliminate
therapy deviant
behaviour

Codes :

B) 1 4

C) 3 2 1

(D) 4 1 3 2
no
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62.

63.

64.

Which of the following purpose the Joint

Review Mission (JRM) is conducted by

the MHRD ?

1) To approve the district perceptive
plans of SSA

2) To review the implementation of
midday meal programme

3) To review the professional
development programmes for the
teachers

4) To approve the proposals for
recruitment of new teachers

(A) 2,3 and 4 (B) 1,2and 4

(C) 1,3and 4 (D) 1,2and 3

Whatis the purpose of appointing Inclusive
Education Resource Teachers (IERTS) in
Elementary Schools ?

(A) To provide academic support to
teachers to meet the challenges of
inclusive education

(B) Toformulate the academic standards
for inclusive children

(C) To manage the inclusive Education
Resource Centres

(D) To provide home based education to
severally disabled

Schools in the project district are categorised
based on

(A) Enrolment Ratio
(B)
(C) Enrolment and Retention Ratio
(D)

Retention Ratio

Learning Levels of students

no
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65.

66.

67.

Which one of the following are meant to
encourage the teachers to assess their
own performance and to make continuous
efforts to reach the desired levels ?

(A) Performance Indicators (PINDICS)
(B) Learning Indicators (LINDICS)

(C) Learning Outcomes (LOs)

(D) Minimum Learning Levels (MLLs)

The holistic approach to curriculum has

basis in

(A) Foundations; domains and theoretical
and practical principles of curriculum

(B) Philosophical and sociological
foundations of curriculum

(C) Historical basis and sociological
basis of curriculum

(D) Psychological and technological
basis of curriculum

Which of the following are the guiding

principles of National  Curriculum

Framework -2005 (NCF-2005) ?

1) Connecting knowledge to life outside
the school

2) Ensuring that learning shifts from
rote methods

3) Enriching the curriculum so that it
goes beyond textbooks

4) Making examinations more flexible
and integrating them with classroom
life

5) Nurturing an overriding identify informed
by caring concerns within the
democratic polity of the country

(A) 1,2,3,4,5

(B) Only 2, 3,4 and 5

(C) Only1,2,3and 5

(D) Only 3, 4 and 5 only
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68.

69.

70.

Which of the following are the criteria for
selection of the content ?

1) Self-sufficiency

2) Suitability

3) Adequacy

4) Learnability

(A
(B
(C
(D

1 and 4 only
1 and 2 only
1and 3 only

)
)
)
) 1,2, 3 and 4 only
Which of the following policy proposed
the National Curriculum Framework as a
means of evolving a national system of
education ?
(A) National Policy on Education 1978
(B) National Policy on Education 1986
(C) Eswaribhai Patel Committee
Recommendations
(D) Justice Varma Commission
Recommendations

Which of the following shift is not based

on the implications of NCF 2005 ?

(A) Teacher-centred classroom
processes to Learner-centred,
flexible process

(B) Teacher’s direction and decisions
to Learner’s autonomy and
independence

(C) Teacher transmits information to
Teacher facilitates learning and
discovery

(D) Students actively participate in
learning to students passively
receive knowledge

no
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71.

72.

73.

The following is one of the reason for
difference between approved plan and
implemented plan

(A) Complexity of the proposed planning
inputs

(B) Lackof resources forimplementation
of plan

(C) Difference in the proposed budget
and allotted budget

(D) Non-compliance with the audit
rules

Scientific management is based on the

assumption that

(A) The scientific observation of people at
work would reveal the one best way
to do the task

(B) Observation would reveal the workers
need to be multi-skilled

(C) Workers can decide their own
methods of performing tasks

(D) Workers would receive a set wage
regardless of performance

Contingency Management theories

imply that

(A) One method of management suitable
for all situations

(B) Autocratic managers achieve the best
results

(C) People are more important than the
products produced

(D) Circumstances in which a particular
practice is more likely to succeed
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74.

75.

76.

77.

78.

The main purpose of School Management
Committee (SMC) is

(A) To monitor of physical resources

(B) To encourage the parental
partnership

(C) To facilitate partnership of parents in
school activities

(D) To probe the teachers

Educational Evaluation refers to
(A) Measurement of learning outcomes
(B) Administration and scoring

(C) Attributing value judgement to learning
attainment

(D) Assessment of pupils’ learning using
standardised tests

The scale of measurement which permits
making a statement like ‘Janaki is twice as
tall as Ramesh’ is

(A) Nominal Scale

(B) Ordinal Scale

(C) Interval Scale

(D) Ratio Scale

Which of the following is a non-verbal test
of intelligence ?

(A) DAT

(B) Binnet’s Test

(C) Army Alpha Test

(D) Raven’s Progressive Matrices

)
)
)
)

Criterion-referenced test measures
performance of students in terms of

(A) Relative position in a group
(B) Specific instructional objective
(C) Specific learning difficulties
(D) Mastery learning

no
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79.

80.

After scoring a test that was administered
to a group of students, teacher finds an
errror in the scoring key and decides to add
two points to each students score. Which
of the following measures are affected by
the change in scores of students ?

1) The range

2) The mean

3) The mode

4) The quartile deviation

5) The standard deviation

(A) 2 and 3 only

(B
(C
(D

)
) 4 and 5 only
) 2,3and 5
) 1,4and 5

The purpose of creating SWAYAM is web
portal by the MHRD is to provide

(A) Massive Open Online Courses
(MOOQCs)

(B) Repository of Open Educational
Resources

(C) Mobile applications for learning
(D) Support by the forum of Teachers

81. Which of the following is not an element of
communication ?
(A) Feedback (B) Message
(C) Channel (D) Media
82. HTML is basically designed for creating
(A) Text pages
(B) Web pages
(C) Tables and Graphs
(D) Videos
no
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79.

80.

81.

82.
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3) oTEsw
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(A) 2, 3 5@

(B) 4, 5 so@an

C) 2,3,5

(D) 1,4,5
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(A) 70 DS es358S Sdnen (MOOCS)
(B) Fr&5@% oy 55800 §Fmeo

(C) waiss §°5% 2208 ebkgoes

(D) edmrgoion S50rEo eodow $Ifako

205 3OS Te3S° DO g% (HESE $oTe%o
3¢50 ?
(A) DB

(B) Sotvso
(C) o5 (D

) Ddase

HTML 309 $y209603 Srdrofofacod ?
(A) 5, Sefeo

(B) 225 eden

(C) &endy, rooo

(D) Decres
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83. Match the List — | with List — Il of the

following.
List -1 List -1l
a) Non-directive 1) Information
Teaching Processing
Family

b) Mastery Learning 2) Personal
Family

c) Scientific Inquiry 3) Social Family

d) Jurisprudential 4) Behaviour

Inquiry Model Modification
Family
Codes:
a b c d
A) 2 1 4 3
B) 1 2 3 4
(c) 2 4 1 3
(D) 3 2 4 1

84. In the ADDIE model of instructional
design, ‘I’ stands for
(A) Instructional analysis
(B) Influence
(C) Implement
(D) Infuse

85. Which of the following methods need to
be adopted by the teachers to meet the
challenges of Generation-Y learners ?

1) Adopting interactive technologies in
teaching

2) Encourage the independent thinking

3) Use of Lecture Method

4) Use of Team Teaching

(A) 1and 4 (B) 2and 4
(C) 3and 4 (D) 1and 2
no
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83. o3y — 1D 068 — Il & esdidisnnoo

595 -1 295 -1l

a) ©BID H¢D 1) S50rTes BEade

0200
b) 50e3® weigddo  2) $ENS SHewoeo
C) oA &6 3) o SHenowo

d) GOF°Q00EES  4) EITT SOy

T°° E5¢2000
Ssc%“) :
a b c d
A) 2 1 4 3
B) 1 2 3 4
c) 2 4 1 3
(D) 3 2 4 1

84. ADDIE & 3658 505708 1" 83900

(A) 35@%‘66 OVR
(B) 35330303,

(C) goa00ed

(D) aSdrgs

85. =:50055-Y ETGISIO HTFRD
@088 DS e eraioeo $ol8 N
T3E° D BEBOB @Beoomd ?
1) Sesss BA0OB FcTAFBH
9900800
2) B0 sS85 QFBrotso
3) ST BES eBArRotco
4) 2y00s 5765000 EOATPAOBE0
(A) 1 508050 4 (B) 2 50805 4

(C) 3508050 4 (D) 1 508050 2
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86. Which of the following is not a defense

mechanism ?
(A) Association (B) Regression

(C) Compensation (D) Sublimation

87. A child who has difficulty in reading or
writing isolated numerals or a series of
numbers is known as
(A) Dyslexic (B) Dysgraphic

(C) Dyscalculic (D) Dysphasic

88. Unsatisfactory relation of a mentally
retarded child with the environment is
technically called

(A) Autism

(B) Maladjustment

(C) Pseudo- dullness
)

(D) Delinquency

89. Xerophthalmia is a result of insufficient

amount of
(A) Vitamin A (B) Vitamin B
(C) Vitamin C (D) Vitamin D

90. Teaching by small steps and frequent
short assignment techniques are useful for
1) Slow learners
2) Learning disabled
3) Educationally backward children
4) Children of all types of disabilities
(A
(B
(C
(D

no

) 1 only correct

) 1 and 2 only correct
) 2 and 3 only correct
)

1, 2, 3 and 4 are correct
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3) g IRVEECNT XTI eToed
4) &) S50 88 eroed
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(D) 1,2, 3, 45059
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91. Match the following List — | with List — II.
List -1 List-1I
(Name of the ( Explanation)
Disability)
a) Dyslexia 1) Difficulty with
writing
b) Dyscalculia 2) Difficulty with
fine motor skills
c) Disgraphia 3) Difficulty in
Language
d) Dispraxia 4) Difficulty in
numbers
Codes :
a b c d
(A) 3 4 1 2
B) 3 4 2 1
) 1 2 4 3
(D) 4 3 1 2
92. Richard Suchman is the originator of
(A) Inquiry training programme
(B) Inductive thinking programme
(C) Deductive thinking programme
(D) Convergent thinking programme
93. The competence in social dialogue will be
developed through
(A) Social inquiry
(B) Non-directive teaching approach
(C) Jurisprudential Inquiry approach
(D) Simulation
94. Find the odd from the following

(A) Concept Attainment Model
(B) Jurisprudential Inquiry Model
(C) Inductive Thinking Model

(D) Cognitive Growth Model

no
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95.

96.

Which of the following are the part of Four
Pillars of Education ?

1) Learning to live together

2) Learning to do

3) Learning to Learn

4)
5) Learning to be

(A) 1,2and 5
(C) 1,2and 3

Learning to Relearn

(B) 3,4 and 5
(D) 1,4and 5

ZPD indicates

(A) Zone of Proximal Distance

(B) Zone of Probable Distance

(C) Zone of Proportionate Differences
(D) Zone of Probable Differences

Read the passage below and answer the
questions that follow (from 97 to 100).

Instrumental values are values that are
judged good because they are good for
something. Their value depends on their
consequences when used to achieve
some other value. In drawing up a course
of study for a student to pursue, for
example, what subjects or values should
be included ? Much will depend on what
career the student has set for himself. If he
has decided to become an engineer, then
studies like mathematics and science will
have first call on his adviser's attention.
Because they are the indispensable means
or tools for the student’s future career, their
value is clearly instrumental. They are good
for such career. But they might not be good

no
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at all for some other career, such as that
of a lawyer or actor. Instrumental values,
thus are clearly subjective in character and
relative to people and situations.

97. Instrumental values are values that are

98.

99.

100.

judged good because
(A) They are necessary for life
(B) They are essential for learning

(C) They are good for a particular thing
only

(D) They are good for many things

What subjects are to be included in a
course is determined by ?

(A) Career goal of the student
(B) Career needs of the society
(C) Value for the students life
(D) Value for the society

When course subjects become
indispensable tools for the students
future, their value is called

(A) Intrinsic
(B) Extrinsic
(C) Educational
(D) Instrumental

When the consequences of a value is
purely subjective in character, it is said to

be

(A) Personal

(B) Instrumental

(C) Intrinsic
)

(D) Psychological
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